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THE WAGE TO THE EDUCATED WORKER MUST COVER THE EDUCATION COST
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THIS CONSTARINT SHOULD IMPOSE A CONDITION SUCH THAT (1) THE CONTRACTUAL WAGE IS wH IF EDUCATION = e*  AND OUTPUT PER HOUR = aH 
(2) THE CONTRACTUAL WAGE IS ZERO OTHERWISE. MOREOVER THE WAGE wH MUST BE LARGE ENOUGH TO MAKE THE H WORKER BETTER OFF BY SIGNING THIS CONTRACT, THAN WITH ANY OTHER COURSE OF ACTION. 
(1)  CHOOSING EDUCATION e* 		(2) PRODUCING OUTPUT PER HOUR aH			(3) 
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THE CONTRACT MEETS THE INCENTIVE COMPATIBILITY CONSTRAINT STATING THAT:
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THE CONTRACT MEETS THE PARTICIPATION CONSTRAINT:
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NOW THE EMPLOYER OFFERS TO EVERY WORKER THE CHOICE BETWEEN TWO CONTRACTS, ONE WITH WAGE wL and task aL, THE OTHER WITH WAGE wH AND TASK  aH. IF THE TASK IS NOT ACCOMPLISHED THE WAGE IS ZERO
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THE L WORKER HAS NO INCENTIVE TO CHOOSE THE H CONTRACT, BECAUSE HE CANNOT PRODUCE OUTPUT aH
TO MAKE SURE THAT THE H WORKER WILL SELECT THE H CONTRACT, THE WAGE
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